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: Unit Test _
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\ Sub- Science & Technology Chap -10and 11 Max Marks - 20 )
Q.1 (A) Choosethe alternative which is correct from the bracket. 2
1)  Thefirst kinematical equation givesrelation between andtime.
i)  Themotion of rocket isbased on Newton's law of motion.
1) Theprinciple used for the motion of rocket isbased on Newton's law of
motion.
Iv) Retardation means acceleration.
(B) Matchthepair 2
Column 1 Column 2 Column 3
1) Newton'sfirst Givesan idea of effects of A carinitialy at rest
law of motion force acquiresvelocity of
50m/sin 10 seconds.
1) Positive acceleration  Alsocalled law Inahighjumpathletic
of inertia event, theathletesare
madetofall onasand
bed.
i) Newton'ssecondlaw Velocity of abody decreases Only the carrom coin
of motion at thebottom of apile
isremoved whena
fast moving striker
hitsit
(C) Name the following. 2
1) A setof three equations of motion.
i) S..unit of acceleration.
i) C.GS. unit of force.
Iv) The scientist who introduced momentum.
(D) Find odd man out 2
1) Force applied to sponge, force applied to atrolley, Force applied to a balloon,
Force applied to spring.
i) Force of interaction between bat and ball, force of interaction between gun and
bullet, motion of rocket, aperson fallswhen he jumpsfrom amoving bus.
i) flightsof birds, motion of vehicles, motion of train, motion of the earth.
Iv) Negative acceleration, positive accel eration, retardation, decel eration.
Q.2 (A) Answer in one sentence. 4
1) Whatisacceleration?
2) An object may appear to be moving for one person and stationary for other.
Explanwhy?
3) State Newton'sFirstlaw of motion.

4)

State Newton'sthird law of motion.
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Explainwhy some of theleavesmay get detached from atreewhen wevigorousy
shakethe branches?

State Newton’s Second law of motion.

Give scientific reasons :

An object at rest can be considered to have uniform motion.

When abody fallsfreely on the ground, it fallswith uniform accel eration.
Thestock of the gunisaways made heavy.

It isadvised to tie any luggage kept on the roof of thebuswith arope.

Solve (any one)

Anobject moves 18minfirst 3second and 22minthenext 3 sec., whileit travels
14minthelast 3 sec. Calculate the average speed.

An object of mass 16kg moveswith an acceleration of 3m/s2. Calculatetheforce
actingonit. If the sameforceisapplied to another object of mass 24kg, what will
be the acceleration?

Distinguish between. (any two)

Balanced force and Unbalanced force

Inertiaof Motionand Inertiaof Direction

Distance and Displacement

Uniform motion and Nonuniform motion
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